
12 GRADED ARITHMETIC.
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2. A I'imber dealer bought 460,000 ft. of lumber at «1fi on «»- nrand sold it at $2i per C. What did he gai!?"
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^ of the entire capital. What was the capital invested.T If sound travels at the rate of 1090 ft. a second, and if a «nin^discharged at a ^stance of 5^ miles, how much ti^e caneWafter seeing the flash before hearing the sound 9
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* of ftonTUT '^rf r'' ^ ^"^^* '^' ^^'^-^ -tm forf ot a ton ? What will 8 T. 450 lb. cost ^
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9. In digging a cellar 48 ft. by 36 ft. 6 in and 8 ff o ,„ ahow many cubic yards of earth must be removeV?
"'

makes a faJl of 261 ft. What per cent of the fall is the width ifat Its brink it measures 20 yards across ?
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11. The distance from Montreal, by water fn Wa >,o n
Saguenay, is 380 miles. If the dis'Jce ttquebe^Ts1^^^^^^Z thway, how far is it to Quebec ?
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12. If the bread made from a barrel of flour weighs S'id. „,o.c fi,

( tons ? What is tlie value of 1850 lb >
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